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c17 [RecT| 75 75 |154| 265 | #4 5 7.62 8 1 |I86513.66 | 186226.28 | 77862.29 | 7786229
c18 [RECT| 75 75 |230| 265 | #4 4 5.08 8 1 [J107581.96 | 155110.71 | 96823.76 | 96823.76

SR 48U & ZVeoi¥Nai (Kg) 3249521.79




| P 143 |

Jooy

L J— R
EE=5 '13.53% > AT ﬂd‘ﬁ$¥<> @ PSERC
X L+ & 5 4 % 9 (sec) : MM0.07hS7S  [10.05h%75 Hew PR

=8 1

O I TP o g #! ¥l
;ﬁ" ﬁ?"] / S P z@gﬂt zrﬁiﬁ %51’;‘% o 5 (kgf) (kgf) VeoiixNei
5 | 5 B B S | B SR oA ’ ] .
o lopo| & | = ((;; (fhrﬁ) No | nm | emty | © (Vm,coli) (Vsui) (kgf)

(cm) (cm) 4y

(Bo)/(De) |(He) /(Do)
- B (h/ Ho)>2)
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Ci18 |[RECT| 75 75 |2.30| 265 #4 4 5.08 8 1 07581.96 | 155110.714 96823.76 | 96823.76
- A2 485 & 2VeoixNei (kgf) 3249521.79




i}
M

9|
Ot
it

> —RHENE

z)@

X X Tk T BRT —‘—A‘ ‘ B3 Al E ER 4
T ZEREOIRIEEEN
alww| T T |psl-d BEDRERE 0 BT prere |
o 2L (W DAURHTRIRE o fen
oo |(ype)| = i« (o)) (er NN ") (k (k f) (kgf)
| (ps) | (hp S TV.coli) (Vsu g
v
I BREN
N 7N - i (- HE B iR B (M H)>2)
C1l |R - 5.08 8 1 | 104586.70 | 152766.19]| 94128.03 | 94128.03
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Ci11 (R 117030.10 | 154720.32f| 105327.09 | 315981.27
C12 |R ¢ 0. 8( ——0. 5)+0 5 > 99258.64 | 152993.950| 89332.78 | 267998.34
C13 |R mco,, m.coli 109647.59 | 182507.43| 98682.83 | 296048.50
C14 (R 102207.31 | 155341.96| 91986.58 | 275959.73
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v 6 B d A2 T 4 38 B ZVowaiXNowai (KgF) 44263.17
NS 45 & (cm)| & & (cm) | % & (cm) £ H 2452 1 4 5 & (kgf) s 4 g B ) 3 (kgf)
par gt (Tw) (Wh) (Hp) (DNl AV AV
Z o BAABZ BT 4 3 A ZVowsixNowsi (KgF) 0.00
ARFRA M5 & (Cm)| & A& (Cm) | F & (cm) 5 (Nowo) B ¥4 R (kaf)| AT w3 (kdf)
p (To) (Wh) i o X Neuoi

TR

BiE (j=2)
ZHBPRBIDEE




TRIER | D T
MNEE — B IR =G EE
RC
, A,;I% , # 5 & (cm) £ A& (cm)
SR b T W i E (Nowi)
22 HERCH) ’ °
5 A (cm) £ A& (cm)
o 152 (Nowsi)
" (Tb) (Wh) b
e e By P4 5 dr

RE
B s
EHE

BERY—EiEE /R —if%

BTSN RHER
S8 RZEEMITE -




E

BIER

> BEYMSENEORETRE N E )

RCig ~ 781E | | IHiia

e

@Q@@ © @@@@

- AT 4 R =1 j=2 =3
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